————— MELTER & AUTOMATION

I NATIONAL 2019 Master Pricing

7220 South Fraser St.
Centennial, CO 80112
Phone: 303.339.9100
Fax: 303.649.1017

BILLTO:

Town of Erie
Cory Weiner
150 Bonnell Ave
Erie, CO 80516

DATE: January 2, 2019
QUOTED BY: Matt N /Ryan Fenton
CUSTOMER EMAIL: cweiner@erieco.gov

SHIP TO:
Town of Erie
Cory Weiner

150 Bonnell Ave

Erie, CO 80516

SHIPPING SUBJECT TO
SALESPERSON PAYMENT TERMS VETLED SALES TAX EEE SHIPPING TERMS
Ryan Fenton Net 30 Days Best Way Exempt 12/31/2019 FOB Centennial

Product Description AMOUNT
Disc Meters Complete with Beacon Cellular Orion

PL25 5/8 X 3/4 Plastic Meter With HRE LCD Regiater and Cellular Endpoint $377.28
LF25 5/8 x 3/4 Disc Meter with HRE LCD Register and Beacon Celluler Endpoint $387.58|
LF35 3/4 Disc Meter with HRE LCD Register and Beacon Celluler Endpoint $474.03
LF70 1" Disc Meter with HRE LCD Register and Beacon Celluler Endpoint $620.87
LF120 1 1/2" Disc Meter with HRE LCD Register and Beacon Celluler Endpoint $1,349.96
LF170 2" Disc Meter with HRE LCD Register and Beacon Celluler Endpoint $1,765.87

E-Series Meter with Beacon Cellular Orion
E25 SS 5/8 x 3/4 E-Series Meter with Beacon Endpoint $463.73]
E35 SS 3/4 E-Series Meter with Beacon Endpoint $521.87
E55 SS 1" E-Series Meter with Beacon Endpoint $678.51
E112 SS 1 1/2" E-Series Meter with Beacon Endpoint $1,258.21
E2 SS 2" E-Series Meter with Beacon Endpoint $2,213.79

Turbo Meter with Beacon Cellular Endpoint
LF160 1 1/2" Turbo Meter with Integral Stainer, HRE LCD Register, and Beacon Endpoint $2,094.80,
LF200 2" Turbo Meter with Integral Stainer, HRE LCD Register, and Beacon Endpoint $2,801.08,
LF450 3" Turbo Meter with Integral Stainer, HRE LCD Register, and Beacon Endpoint $3,774.91



mailto:cweiner@erieco.gov

Compound Meters with Beacon Cellular Endpoints

2" Compound Meter with Double HRE LCD Registers and Beacon Endpoints $2,953.36
3" Compound Meter with Double HRE LCD Registers and Beacon Endpoints $3,503.61
4" Compound Meter with Double HRE LCD Registers and Beacon Endpoints $4,832.50
Plate Strainers
2" Plate Strainer with SNG Set $339.36
3" Plate Strainer with SNG Set $576.89
4" Plate Strainer with SNG Set $857.67
Parts
3/4" Rubber Connection Washers $0.32
1" Rubber Connection Washers $0.44
3/4" Meter extenders $9.84
T-10 Torx Screwdriver $24.18
62657-001 T-10 Bit Only $5.43
1 1/2" and 2" Elliptical gaskets $1.99
5/8" and 2 (qty) 3/4" Bolt S/S $1.96
5/8" blue nut $1.34
3/4" X 2 (qty) 3/4" bolt S/S $2.93
3/4" Blue nut $2.03
Marking Pain (1 can - 12 cans per case) $5.15
2" x 3" x 15" Marking flags $0.18
2" x 3" x 30" Marking flags $0.19
12" CL Insert Meter pit lid w/ 2" hole (equal to D&L #12260) $24.10
Curb Stop Lid 4" Marked with WATER, Equal to Tyler 6500 $13.66
Curb Stop Repair Lid 4" marked WATER, Screw Type / Spreading Plates $19.31
Curb Stop Lid 1" Thread Equal to AY McDonald 5601L $9.53
Curb Stop Repair lid Pipe Style Marked WATER, Equal to AY McDonald 5614RL $32.19
Meter Pit Lid W/2" Center Hole $22.92
Meter Pit Cover risers 2" equal to Ford ER25AW $32.19
Meter pit cover risers 4" equal to Ford ER4AW $34.87
Meter Pit inner frost lid (Plastic) equal to Ford W3BPD $5.46
5/8" x 3/4" Water meter re-setter (pit) Cambridge 6010-207-N2N2-VQ $116.54
5/8" x 3/4" in-house water meter setter Cambridge 7010-2-H3H3 $71.84
5/8" x 3/4" pit water meter setter Cambridge 6040-207-H3H3-VQ $139.82
3/4" Corporation Stop CC by compression $41.51




Hydrant Meter Pit Component Parts

Part Number Item Number Description
58647-001 1 Cover, register, bronze $13.75
64085-003 2 Register, 100 Gallon. T.C. $27.50
64085-007 2 Register, 10 Cubic Feet T.C. $27.50
64085-011 2 Register, 1 Cubic Meter T.C. $27.50
59542-001 3 Retainer, Flat $4.38
62624-001 4a Seal Screw, 8-32 reg Case $1.25
62516-002 4b Tamper resistant torx Seal Screw $1.25
59568-001 5 Pin, Cover $0.94
59525-004 6 Base Ring w/ lock hasp $11.88
63010-003 7 Measuring element assembly, complete $640.00
66132-001 8 Cover plate $387.50
62754-003 9 O ring , head $8.00
62793-001 10 Seal plug, calibration shaft $3.75
62976-004 11 Lock screw, calibration shaft $21.25
62976-003 13 Calibration shaft $107.50
62754-001 14 O ring, Calibration shaft $1.25
62976-001 15 Calibration linkage $8.13
62976-019 16 Magnet carrier $33.75
62976-013 16a Hold down strap $5.94
62976-023 16b Transmission shaft gear $8.13
62976-021 16¢c Transmission shaft protection tube $8.00
62976-011 16d Transmission Shaft Assembly $50.00
62976-002 17 Bearing, lower transmission $25.00
62976-015 18 Cage insert, measuring element $76.25
62976-072 19 Rotor Assembly $140.00
62924-002 20 Cage seal $6.25
62976-017 21 Straightening vane and nose cone assembly $102.50
62976-017 2la Straightening vane and nose cone assembly $102.50
62976-005 22 Cage set screw (one required) $1.25
62976-007 22a Cage/nose cone set screws (2 required) $1.25
62976-024 23 Calibration ring (front) $13.75
62976-009 23a Calibration ring (rear) $11.25
25421-034 24 Head bolt, w/ seal hole (one required) $6.88
55031-116 24a Head bolt, w/o seal hole (3 required) $5.63
63047-001 25 Housing $436.25
63129-001 26 Handle (2 required) $18.75
63194-001 27 Cover plate, dummy (not illustrated) $162.00
59677-001 28 Gasket, swivel coupling $4.00
63131-001 29 Screen $82.50
63180-001 30 forms available upon request) $192.50
25724-000 31 upon request) $124.00
26506-000 32 Valve, gate 2" (bronze) $160.00
26506-017 32 Valve, Gate 2 1/2" $181.25
26505-000 33 valve) $143.75
63000-001 33 gate valve) $145.00
14711-138 34 Nipple, brass, 2NPT x 2 long (for use with 2" gate valve) $18.75
14711-161 34 Nipple, brass, 2NPT x 2 long (for use with 2 1/2" gate valve) $48.75
22779-027 35 Pipe bushing hex 3x2 for use with 2" gate valve $113.75
22779-032 35 Pipe bushing hex 3x2 for use with 2 1/2" gate valve $114.00
62037-002 36 replacement for item # 34) $237.00
62115-001 37 Universal spanner wrench for swivel connection $31.25

THANK YOU FOR YOUR BUSINESS!!




	2017

